Schedule: A

Project No.: PRA-CAHA 10(1)

Project Name: CAPE HATTERAS NATIONAL SEASHORE

State: NC Opened at: Sterling, VA County: DARE By: John Wilson

CAPE HATTERAS NATIONAL SEASHORE Date: 12/18/02

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: **Deborah Ranciato**

Title: Program Specialist Date: 1/27/03

Contract Awarded to: R & G Construction Date: 2/20/03

Contractor	Bid Amount	Responsive
R&G Construction Company 1700 N. Graham Street	475,405.00	
Charlotte, NC 28206		
Barnhill Contracting Company, Inc.	502,887.43	
P.O. Box 1050		
Kitty Hawk, NC 27949		
First Coast General Contracting, In	585,258.35	
P.O. Box 2469		
Kitty Hawk, NC 27949		
Engineer's Estimate	425,000.00	

Date: 12/18/02

Schedule: A

Project No.: PRA-CAHA 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount	
15101	LPSM	MOBILIZATION				
	R&G Construction Com		ALL	19,060.00	19,060.00	
	Barnhill Contracting Company, Inc.			25,000.00	25,000.00	
	First Coast General Contracting, In			19,403.90	19,403.90	
	ENGINEER'S ESTIMAT	E		23,110.00	23,110.00	
15201	LPSM CONSTRUCTION SURVEY AND STAKING					
	R&G Construction Com	npany	ALL	6,000.00	6,000.00	
	Barnhill Contracting Co	mpany, Inc.		9,400.00	9,400.00	
	First Coast General Con	tracting, In		9,095.58	9,095.58	
	ENGINEER'S ESTIMAT	Е		17,000.00	17,000.00	
15401	LPSM	CONTRACTOR TESTIN	G			
	R&G Construction Com	npany	ALL	3,900.00	3,900.00	
	Barnhill Contracting Co	mpany, Inc.		2,000.00	2,000.00	
	First Coast General Con	tracting, In		5,093.52	5,093.52	
	ENGINEER'S ESTIMAT	TE		10,000.00	10,000.00	
15703	LNFT	SILT FENCE				
	R&G Construction Com	npany	2,900	1.60	4,640.00	
	Barnhill Contracting Co	mpany, Inc.		3.20	9,280.00	
	First Coast General Contracting, In			2.40	6,960.00	
	ENGINEER'S ESTIMAT	TE .		3.35	9,715.00	
20101	ACRE	CLEARING AND GRUB	BING			
	R&G Construction Com	npany	1.8	5,900.00	10,620.00	
	Barnhill Contracting Company, Inc.			8,500.00	15,300.00	
	First Coast General Contracting, In			18,191.16	32,744.09	
	ENGINEER'S ESTIMAT	TE		4,500.00	8,100.00	
20301A	S EACH	REMOVAL OF BOLLAR	rD			
	R&G Construction Con	npany	25	30.00	750.00	
	Barnhill Contracting Co	mpany, Inc.		36.77	919.25	
	First Coast General Con	tracting, In		12.13	303.25	
	ENGINEER'S ESTIMAT	E		50.00	1,250.00	
20301B	EACH	REMOVAL OF SIGNS				
	R&G Construction Com	npany	6	50.00	300.00	
	Barnhill Contracting Co	mpany, Inc.		71.00	426.00	
	First Coast General Con	tracting, In		12.13	72.78	
	ENGINEER'S ESTIMAT	TE .		75.00	450.00	

Date: 12/18/02

Schedule: A

Project No.: PRA-CAHA 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20302RB	B LNFT REMOVAL OF PORTLAND CEMENT CONCRETE CURB				
			200	5.00	1,000.00
	Barnhill Contracting Company, Inc.			5.50	1,100.00
	First Coast General Contracting, In			3.52	704.00
	ENGINEER'S ESTIMATE			5.00	1,000.00
20303PA	SQYD	REMOVAL OF ASPHA	LT PAVEMENT		
	R&G Construction Comp	any	3,300	4.50	14,850.00
	Barnhill Contracting Company, Inc.			4.80	15,840.00
	First Coast General Contr	acting, In		0.61	2,013.00
	ENGINEER'S ESTIMATE			6.00	19,800.00
20401	CUYD	ROADWAY EXCAVA	ΓΙΟΝ		
	R&G Construction Comp	any	1,800	27.00	48,600.00
	Barnhill Contracting Com	pany, Inc.		17.00	30,600.00
	First Coast General Contr	acting, In		35.29	63,522.00
	ENGINEER'S ESTIMATE			13.50	24,300.00
21101	SQYD	ROADWAY OBLITER.	ATION		
	R&G Construction Comp	any	2,350	5.00	11,750.00
	Barnhill Contracting Com	pany, Inc.		5.10	11,985.00
	First Coast General Contr	acting, In		8.20	19,270.00
	ENGINEER'S ESTIMATE			3.25	7,637.50
30101Z	TON	AGGREGATE BASE, G	RADING C OR D		
	R&G Construction Comp	any	4,400	33.00	145,200.00
	Barnhill Contracting Com	pany, Inc.		28.00	123,200.00
	First Coast General Contr	acting, In		30.22	132,968.00
	ENGINEER'S ESTIMATE			25.00	110,000.00
30502H	SQYD	AGGREGATE-TOPSOI	L COURSE, 3-INCH DEPTH		
	R&G Construction Comp	any	3,600	6.00	21,600.00
	Barnhill Contracting Com	pany, Inc.		6.17	22,212.00
	First Coast General Contracting, In			4.06	14,616.00
	ENGINEER'S ESTIMATE			4.50	16,200.00
41801A	AC TON SUPERPAVE ASPHALT CONCRETE PAVEMENT, 3/8-INCH NOMINAL MAXIMUM SIZE AGGREGATE, <0.3 ESAL, TYPE 3 PAVEMENT SMOOTHNESS				
	R&G Construction Comp	any	1,100	61.00	67,100.00
	Barnhill Contracting Company, Inc.			90.00	99,000.00
	First Coast General Contracting, In			97.02	106,722.00
	ENGINEER'S ESTIMATE			60.00	66,000.00

Date: 12/18/02

Schedule: A

Project No.: PRA-CAHA 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount	
41801CA	TON SUPERPAVE ASPHALT CONCRETE PAVEMENT, 3/4-INCH NOMINAL MAXIMUM SIZE AGGREGATE, <0.3 ESAL					
	R&G Construction Comp	pany	850	61.00	51,850.00	
	Barnhill Contracting Con	npany, Inc.		85.00	72,250.00	
	First Coast General Contr	racting, In		97.02	82,467.00	
	ENGINEER'S ESTIMATE	3		60.00	51,000.00	
41802A	TON SUPERPAVE ASPHALT CONCRETE PAVEMENT, 3/8-INCH NOMINAL MAXIMUM SIZE AGGREGATE, <0.3 ESAL, WEDGE AND LEVELING					
	R&G Construction Comp	oany	50	125.00	6,250.00	
	Barnhill Contracting Con	npany, Inc.		100.00	5,000.00	
	First Coast General Contr	racting, In		97.02	4,851.00	
	ENGINEER'S ESTIMATE	3		58.00	2,900.00	
60901Y	LNFT PORTLAND CEMENT CONCRETE CURB, 18-INCH DEPTH					
	R&G Construction Comp	oany	200	15.00	3,000.00	
	Barnhill Contracting Con	npany, Inc.		25.50	5,100.00	
	First Coast General Contr	racting, In		19.35	3,870.00	
	ENGINEER'S ESTIMATE	3		12.50	2,500.00	
62509	ACRE	TURF ESTABLISHMEN	VT			
	R&G Construction Comp	pany	2.6	1,800.00	4,680.00	
	Barnhill Contracting Company, Inc.			3,030.00	7,878.00	
	First Coast General Contr	racting, In		2,668.04	6,936.90	
	ENGINEER'S ESTIMATE	3		2,000.00	5,200.00	
63304CC	SQFT	SIGNS, ALUMINUM PA	ANELS, TYPE 3 SHEETIN	G		
	R&G Construction Comp	pany	30	55.00	1,650.00	
	Barnhill Contracting Company, Inc.			30.00	900.00	
	First Coast General Contr	racting, In		64.20	1,926.00	
	ENGINEER'S ESTIMATE	3		50.00	1,500.00	
63308A	EACH REMOVING AND RESETTING SIGN					
	R&G Construction Comp	pany	1	150.00	150.00	
	Barnhill Contracting Company, Inc.			121.00	121.00	
	First Coast General Contr	•		801.02	801.02	
	ENGINEER'S ESTIMATE	<u> </u>		100.00	100.00	

Date: 12/18/02

Schedule: A

Project No.: PRA-CAHA 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63401HA	A LNFT	PAVEMENT MARKING	GS, TYPE H, SOLID		
	R&G Construction Comp	oany	27,500	0.70	19,250.00
	Barnhill Contracting Company, Inc.			0.50	13,750.00
	First Coast General Cont	racting, In		0.91	25,025.00
	ENGINEER'S ESTIMATI	E		0.45	12,375.00
63401HE	B LNFT	PAVEMENT MARKING	GS, TYPE H, BROKEN (2' L	ONG DOTTED)	
	R&G Construction Comp	pany	550	1.00	550.00
	Barnhill Contracting Cor	npany, Inc.		1.38	759.00
	First Coast General Cont	racting, In		0.91	500.50
	ENGINEER'S ESTIMATI	Ξ		0.25	137.50
63402H	SQFT	PAVEMENT MARKING	GS, TYPE H		
	R&G Construction Comp	pany	224	4.00	896.00
	Barnhill Contracting Cor	npany, Inc.		11.03	2,470.72
	First Coast General Cont	racting, In		14.55	3,259.20
	ENGINEER'S ESTIMATI	Ξ		6.50	1,456.00
63505C	EACH	BARRICADE, TYPE 3			
	R&G Construction Comp	oany	16	200.00	3,200.00
	Barnhill Contracting Cor	npany, Inc.		270.76	4,332.16
	First Coast General Cont	racting, In		338.38	5,414.08
	ENGINEER'S ESTIMATI	E		175.00	2,800.00
63506A	EACH	CONE, TYPE A			
	R&G Construction Comp	pany	125	35.00	4,375.00
	Barnhill Contracting Company, Inc.			40.74	5,092.50
	First Coast General Cont	racting, In		47.25	5,906.25
	ENGINEER'S ESTIMATI	E		25.00	3,125.00
63507	SQFT	CONSTRUCTION SIGN			
	R&G Construction Comp	oany	283	20.00	5,660.00
	Barnhill Contracting Cor		10.00	2,830.00	
	First Coast General Contracting, In			10.04	2,841.32
	ENGINEER'S ESTIMATI	Ξ		20.00	5,660.00
63508B	EACH	DRUM, TYPE B			
	R&G Construction Comp	oany	50	60.00	3,000.00
	Barnhill Contracting Cor	•		96.62	4,831.00
	First Coast General Cont	= -		182.76	9,138.00
	ENGINEER'S ESTIMATI			80.00	4,000.00

Page 5

Date: 12/18/02

TABULATION OF BIDS

Schedule: A

Project No.: PRA-CAHA 10(1)

	HOUR R&G Construction Comp Barnhill Contracting Con	FLAGGER			
	-	any			
	Barnhill Contracting Con	ally	240	11.10	2,664.00
		npany, Inc.		11.10	2,664.00
	First Coast General Contr	racting, In		11.10	2,664.00
	ENGINEER'S ESTIMATE	3		11.10	2,664.00
63606LA	LNFT	CONDUIT, 4-INCH, PVC			
	R&G Construction Company		680	12.00	8,160.00
	Barnhill Contracting Company, Inc.			5.76	3,916.80
	First Coast General Contracting, In			19.74	13,423.20
	ENGINEER'S ESTIMATE			14.00	9,520.00
63701	EACH	FIELD OFFICE			
	R&G Construction Company		1	4,500.00	4,500.00
	Barnhill Contracting Company, Inc.			4,530.00	4,530.00
	First Coast General Contracting, In			2,546.76	2,546.76
	ENGINEER'S ESTIMATE			5,000.00	5,000.00
63705	LPSM	LONG DISTANCE CALL	ING		
	R&G Construction Comp	oany	ALL	200.00	200.00
	Barnhill Contracting Company, Inc.			200.00	200.00
	First Coast General Contracting, In			200.00	200.00
	ENGINEER'S ESTIMATE			500.00	500.00